Easier Area of plane figures

1. If AC| EB,2ABD =90°AB = 6,CD =5 , find the area of AACE.
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2. Two rectangles ABCD, BEFG of dimensions 4 X 5, 6 X 7 respectively are given.
Find the shaded area AFGCH .

G F
D H C
7
5 /
B E
A 4 6

3. If GHII LK, 2ZIGH =90°,GH =x,Gl=y,LK=1z ,
find the area of trapezium GHKL in terms of X,y and z .
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4. If APQR is equilateral and PMNR is a square. Each side of the square is of unit 1,
PM cuts QR at S, find the area of AQNS.
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5. If TUVW isasquare of sides7, UZ =4 , WU cuts TZ at X, find the area of VWXZ .
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6. (Quickie) Given atriangle AABC rightangledat A . If BC = 11 and the altitude from
A to BC is 6 .Find the area of the triangle.



Denote [AABC] be the area of AABC .

1. [AACE] = [AACD], same base AC , same height between parallel lines.

=-x5x6=15

2. CG=7-5=2
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[AFGC] = [AAFG] — [AHCG] = % X4X7— S = ?
3. Let LG=w
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AILK~AIGH = £ = o =5 —X=W—y( - )
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4. PM=MN=NP=RP=PQ=QR=1
2PRQ = 60°, £SRN = 30°, £SNR = 45°
Method 1 Method 2
Let h be the length of the perpendicular £RSN = 180° — 30° — 45° = 105°
from S to NR. SR 1
By Sine Law on ASNR, — = —
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 [ASQN] = [ASQN] — [ASNR] =2 x 1 x 1 x sin30° — 2=t = 222

5. [AVWZ] =§><3><7=22—1
TX _WT __TX _ 7 ___ [AXTW] _ 7 [AXTW] = 7k

[ATWZ]=§><7><7=§
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[AXTW] + [AXZW] = [ATWZ] = 7k + 4k = —
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[AXZW] = 4k = T
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[VWXZ] = [AXZW] + [AVWZ] = 2+ 5 =

6. The answer is not %x 11 x 6 = 33.

Draw a circle with BC as diameter. Then point A is a point on the circumference of the circle.
(The theorem Angle in semi-circle ensures £BAC is right angle.) The maximum altitude
drawn from A to BC is then the radius of the circle in which AABC is isosceles.

1 . . .
However, the radius is 5= 5.5 < 6 . Sothere is no possible solution.



